
N = 25
 25 circles in a circle

radius =   0.173827661421
ratio  =   5.752824330857

density  = 0.755401396879
contacts = 48
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N = 26
 26 circles in a circle

radius =   0.171580252187
ratio  =   5.828176536943

density  = 0.765434356456
contacts = 48
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N = 27
 27 circles in a circle

radius =   0.169307931135
ratio  =   5.906397847394

density  = 0.773959739717
contacts = 54
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N = 28
 28 circles in a circle

radius =   0.166252750039
ratio  =   6.014938097372

density  = 0.773919353071
contacts = 52
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N = 29
 29 circles in a circle

radius =   0.162903649277
ratio  =   6.138597903978

density  = 0.769590369482
contacts = 50
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N = 30
 30 circles in a circle

radius =   0.161349109065
ratio  =   6.197741070879

density  = 0.781006049879
contacts = 60
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N = 31
 31 circles in a circle

radius =   0.158944541560
ratio  =   6.291502622129

density  = 0.783164386047
contacts = 84
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N = 32
 32 circles in a circle

radius =   0.155533985423
ratio  =   6.429462970950

density  = 0.774106259888
contacts = 62
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N = 33
 33 circles in a circle

radius =   0.154161517947
ratio  =   6.486703123560

density  = 0.784270529319
contacts = 66
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N = 34
 34 circles in a circle

radius =   0.151264028247
ratio  =   6.610957090001

density  = 0.777947412209
contacts = 66
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N = 35
 35 circles in a circle

radius =   0.149316776635
ratio  =   6.697171091790

density  = 0.780342492465
contacts = 66

 E.SPECHT
23-APR-2010

N = 36
 36 circles in a circle

radius =   0.148219429761
ratio  =   6.746753793424

density  = 0.790883976914
contacts = 66
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